Add and subtract fractions with the
same denominator

0 Complete the calculations for the representations.

a)

b)

9]

1,3 L4
5 5 5
a_2_ 14
5 5 5

~|w

d)
I
I
0
e)
I
I
0
f)
I
I
0

B
[]jw

e Work out the calculations.

4 3 _
a) 9+9_

4 5 _
) gtg=

7

c——

91

SR

4
q

d)

e)

f)

8 _3_| 5

13 13 |3

8 3 _5_|¢©
13 13 13~ |3
12 5 8 28
scetsctsc=| —
25 25 25 x

Which two questions had the same answer? SN} f—)

Discuss with a partner why this happened.

o Here is a part-whole model.

a) Write all the calculations that the part-whole model represents.

9 4 _ £ a2 4
2t 3 T 3 73+ 7
u, 2 _ 6 6 -u, 2
2+Fr3 T F S
E_u =% £-kL_u
7 Y + += 3F T 3
b _2-> ¢ L6 _2
7 7 ? ? 7 7

b) How many other ways could you make %?
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° Jack and Nijah have shaded a grid. ° The perimeter of the triangle is % units. O

: 4 4 _38
a) Jack uses it to show that 1S + 15 =15 7
30
Where does Jack see this? O
- : 15_4 _11
b) Nlijah uses it to show that TR 13

30
Where does Nijah see this? O

Find the missing length.
¢) How many fraction calculations can you find from the grid?

You could build the grid to help you discover more. @

Write your calculations.

o Work out the calculations. O

g .3 3., 1.1 _2_
a 5+ 70° Q) F+3+7-3°
2_1,2 . 3_ 17,2 7 _2_
37355 d 6*97 109"
o Find the missing terms in the linear sequences.
a) 0,2 4 8 9 L 9 o Solve the equations.
19191 19 251 '25, 2 7
a) X+ =07 e
118 (5|2 5
o) 22| 512 b) y+35=1 y =
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